EARAROBEEIERT — 2 N— IBISH —F

201354 H138 (L) 2EIBR#7H

Bl 2155 10007T ¥5%4&E (B&) [gEl N7 [l m [ oml — = () o &
[A&E4£] 1 7 14,400,000 § 2 7% :5,800,000 § 3 7% :3,600,000 4 3% :2,200,000 3 5 & :1,440,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s ; 44 | EHEERH 1:21.1 6-6 34.11102.6| 2 516 | MiIZRE (3ER)
17|13 H— FAN—% 5.0 [ +6) ) O-Fh-2557
R:T7IT22A8%4> B:LT4T5vH A TATAT7—L4L
5 N : 44 | AKX 1:21.3 1-1 34.8| 9.8 | 7 494 | FBOBLRER ()
2 3| ¥FEHLIEY-R 56.0 (1 1/2) o | B xEEE
R:7V%EE BiFEHY LAy - KRG
> ; # 4 | C. FL—H 1:21.4 12-10 34.0| 99.5 | 5 18 | ERER (EH)
3 g| XA RITHETR 56.0 (3/4) 4y | B FITLUEI5T 5T
LT RIA4YTy IR BRAXTATIT AXETa—T7—L4A
oL R : - e RB= (FEXR)
al7l1al 7R ET i 5 g 1(.12/12.)5 8-8 34.3| 8.3 | 6 (4:3‘3 ol
a4 x 0 ML BT A IFLA LR TFHEHIS
N 1BKI— 21, - . . SBAFE (ER)
5 12 S TILIA—J 4 5 5370 1(721t§S 14-14 34.0| 97.4 | 4 ig;t il
LTy IRy Y b BRLFO—H J—ZAENZTZT AR
— o A. Ta&ILT 221, — . . BAEEN (EX)
6lalisl 7 MLZZ—2 4 5 57_5/1 1(12/12>7 2-2 35.1] 95.2 | 1 ?(1))2 Emfu%
L=/ ¥LLy b BTV RLYT o CERNE ¢
3 it 4 | BREER 1:21.7 6-6 34.71 96.0 | 13 | 456 | =HKM (BR)
7 5| IREN—2— 52.0 (7€) (-2 | A EvTLyRT7—L
LiRAFINTY BT aUTIM—> mE E=
o= fOmE= . o AIRE (EH)
3 4| AR Ty A= "4 o 1(/721:? R R R (Eff) () 91>
RiFATAT v— FB:TU—U—F>F NS IR ¢
; A o4 | EREX 1:22.0 16-16 | 33.8| 93.2 | 12 | 476 |EHEE (E®R)
9 7 J—IJL KXJL 54.0 (1 1/4) (+2) mﬁ”‘gﬁﬁ
R:ZFAT—IL R B:YIIiN—~JL TS
5 . # 5 | JIERE 1:22.0 8-8 34.81 92,9 | 10 | 478 |EKR=E (X#)
1Bl 6| ¥ TxANTE>2Z [B] 4. (7€) Loy | B #5TLy k5575747
Ry 7ZE>ZX B:OAXENAMTTR 17 %%
NN N FLE—BB : = BEEE (ER)
"o ¥>a=-7u>2 6 o (}%? 3-3 352 92.1| 9 <4+624) gﬁmﬂ
L:vNnNy&HT7r B:Yra-IE— =RREANS
R HALLEAE . - AR (ER)
Bl x1vavaneq H o7 o 1(.12/22.)1 3-5 35.2| 91.2 | 14 (5:)22) e
R:TAIVRTy 2 BINAINIF v — Sl rae]
. . 1| B 122, - . . ARFE (EX)
1315l 10| 7T FZNE Y b o4 L 1(212)3 10-10 | 34.9] 89.7 | 8 (438) e
LTI XT—=IVK B:T7ITRATTHI HET77— L
9 s = B4 | BOHN 1:22.9 10-10 |35.5| 83.3 | 15 | 438 |&xTm= (EXR)
14lgli5| EX B3 52.0° 3172 Lo | ERBZK=Z ()
RGATAS v— BAYIHIT =latie
=i # 6 | K- 1:23.6 12-13 36.1| 76.1 | 11 480 | B9E¥9 (EH)
15/1/1| @777 52.0 @ Cay | B EFHTu—g-x. a2z
R:7VF%tx B:Od-ILTFLNEXX Elake
= _ - s 4 | BHF 1:24.0 14-15 [ 36.3| 72.3 | 16 444 | SEYER (RR)
16/5|9 A=A - 51.0 (2 1/2) (0) (B) BA%S
R:YZRE—3IZ24— B:T74-UTI(—> I=atie
@ 71 L
) 46.4-34.6
NA>Z24 L | 12.7-10.9-11.1-11.8-11.7-11.3-11.6
@ 11— S —EBlIEfL
1T=7r=
20—7—
Gol=5r= 3,16(2,11)4(5,13) (6,14) (10,15) (1,8) (9,12)-7
43—+ — (x3,16) (2,4)11(5,13) (6,14) (8,10,15)1,12,9,7
[ N3
H OB 13 380H 714K 3-13 1,510 e E 2-7 830M JEHE 3-8-13 14,150
8 B 13 180F4 8-13 920M B = =18 4,430M B 13-3-8 69,420
3 420M 3-8 3,010 B H 13-3 7,050
8 340H

ABICOVWTRDTEEERROODE. TR LIV,




